1 km 500kg 45 1
+ 20% 1.00
100m =0.045><L =0.136><L
1,000kg 250m =0.050=<L  =0.150><L
500m =0.054><L  =0.163>L
1,000m =0063><L  =0.190>L
1,000m =0072<L  =0.218>L
-2 500kg 100 m
0.12
0.22
0.22
1.00
-3 500kg _ 3m 3 5m 1
0.14
1.00
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-4 (500kg) km
1.00
100m =1.0
1,000kg 250m =15
500m =20
1,000m =3.0
-5 (500kg) km
1.00
100m =1.0
1,000kg 250m =16
500m =2.7
1,000m =5.0
-6 (500kg) km
1.00
100m =1.0
1,000kg 250m =11
500m =12
1,000m =14
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).H=3.0m 200><200><8><12HDZ55 10
(N=8 ) (N=8 )
250
5.00
4.9t 250
+ 13% 1.00
-8 ( )
).H=3.0m 200><200><8><12HDZ55 10
(N=4 ) (N=4 )
170
3.30
49t 170
+ 13% 1.00
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DD-10D) @340 L=4.0m
318.5>6.0 L=4.0m (1:2N )
0.89
0.89
0.89
1.78
0.89
DD-10D 0.89
! 0.89 -1
18 19m3/min '
0.7MPa
! 0.89 -2
20 21m3/min '
0.7MPa
2
25t 0.89 -3
+ 40% 1.00
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1 1 18 19m3/min 0.7MPa 1
12 L 146.00
1
18 19m3/min 1.00
0.7MPa
1.00
2 1 20 21m3/min 0.7MPa 1
12 L 167550
1
20 21m3/min 100
0.7MPa
1.00
-3 2 25t 1
1.00
12 L 112.00
2
25t 102
1.00
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